Featherbed Lane Elementary

Baltimore County (03:0204)
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Featherbed Lane Elementary
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Featherbed Lane Elementary

Alt-MSA 5= =&

NmaEw  HEw [1A8%
o S % ISl % =3
5 2015 * | . . ! .
N \ 16.0 44.0 | 40.0 24.3
ol 2014 x| . 114 2157 19.6
= 8 2015 x| . 18.2 22759 24.0
2014 S 18| ATZNNTAON 198
B 2015 * | - 16.3 13.0 70.7 31.8
2014 . 151 ASAEITI 287
3 2015 "I ) 1.8 2500632111 19.3
2014 o <50 | {EONNSTEII] 128
4 2015 "I : 122 1347744000 204
2014 SO <50 152NNEsSI 147
5 2015 k- 133 467 1400 23.8
2014 " : 89 304 [ 608 18.9
6 2015 * | * 16.7  26.2[57A0 22.8
s 2014 | S50 ATEINEISI] 160
{I_ 7 2015 ’ ‘* ) .7 24"8_ 14.1
o1a O 550 TBNINEEEII 133
* . 11.4  23.9]eas| 16.9
8 2015
O 56 181 768 78
2014
S 152 108739 229
A 2015
. 143 ASANTEI 22
2014
S 74 194 735 165
3 2015
O =50 S80I 103
2014
S o8 159 744 17.4
4 201
- o <50 | 136IIEeANIIN 1.9
2014 S 167 187 687 16.4
= 5 2015 k- 53 2030784 14
2014 . lr .
o5 | o5 179 726 16.8
6 2015 k- o7 fo7iE27 ] 133
2014 A 1 137 @iz 10,9
7 2015 k- s50 | {ZANES T 122
2014 A 102 BZNTAEIN 132
8 2015 b 54 10400758 126
2014 O 109 196 696 19.0
£ 2015 . 134 ASANTANI 188
2014
| | ! | ! | | ! | ! | | ! |
100 50 0 50 100 100 50 0 50 100 100 50 0 50

CHAl HIZ2eHE & E I AHAI-MSA

CHAM DIZ =S sf) &It AHAI-MSA) = @%‘ 2o o £ & U202 MSA 2 ELALE £=32| PARCCE & =+ Q= Z 0N
SIHS0| AHSLICH Ol AIE2 St 210] & =30l 28t =F 22 =S SFYLILL UHHS Z&E SFHS0| 3=t DSt wiil A
ANES AAgUDL e D2, 5= 82 s =& 2 ofd STME HE2EZ 2L




PARCC B} &/ @9F A} -2015

SE1 SE 2 =3 =4 *ESs
_OtA DILIE JIHE 2= Jlio 2ENS JIUE == s =3e
SEOHAl FUAS EZ/US =Eme = comMe == =
ANBRS A % p. e % A % A4 % A= %
go/o0l Gl+3 A= 65088 13108 20.1 12816 19.7 14322 22.0 21951 33.7 2891 a4
JI2El 8395 1331 15.9 1592 19.0 1948 23.2 3049 36.3 475 5.7
=1m) 94 21 223 26 27.7 21 22.3 24 25.5 © <5.0
o0l G|+ 4 F=E=2 63792 8012 12.6 12855 20.2 17329 27.2 20718 3255 4878 7.6
I =2El 8292 598 7.2 1443 17.4 2340 28.2 3099 37.4 812 9.8
=1l 69 7 10.1 13 18.8 18 26.1 27 39.1 4 5.8
Zol/o0 Gi+5 F=HL 63331 7528 11.9 13204 20.8 17245 27.2 23353 36.9 2001 3.2
I} =2El 8015 590 7.4 1505 18.8 2272 283 3324 415 * <5.0
=1l 91 8 8.8 26 28.6 36 39.6 20 22.0 o <5.0
£83 =FHL 65594 9748 14.9 14771 22.5 17224 26.3 19600 29.9 4251 6.5
I =2El 8502 1230 14.5 2109 24.8 2476 29.1 2324 27.3 © <5.0
=1l 96 20 20.8 31 323 30 313 13 13.5 o <5.0
284 =FHL 64290 8870 13.8 18133 28.2 17579 27.3 17957 27.9 1751 2.7
I 2E| 8436 1177 14.0 2745 325 2455 29.1 1918 227 * <5.0
=igm) 71 18 25.4 23 324 14 19.7 16 225 * <5.0
255 =FHL 63828 8337 13.1 18491 29.0 17946 28.1 16441 25.8 2613 4.1
I} =2El 8174 1280 15.7 2791 34.1 2123 26.0 1721 21.1 © <5.0
=1l 96 26 27.1 45 46.9 19 19.8 6 6.3 o <5.0

et & =Y EHld BILE ?18 8 M H(PARCC)
2015401 HIZ2HEE = 20 28 0|2t =3F HILE @
HItS2 388t 02t =St0lAS HEHE st BIIES
goit== gLt

[(PARCC)E MBI FTASLICH
SIS0l CHEr =St Z0 102

PARCC 41} =F & HXH(PLD)

SOAHO Oll=/A01/M0| L =5 1t =& SHNE2 2 =2 MFHQ STA0| Ttalol std =0 et 0fE HAS 2 4= A0 S=XE

/éll]#%lLlE}
=hsh .

+=F 1 0tA JIHE SZoHX EUAS

=E2IIHE 2 EFIUS

=& 30100 28S

== 4JIHE 5SS

+EIJIHE =4S




